\12mm PPC rod
through
ballustrades

=

Pellet over
M10 bolt as
detail N.

920

Black PPC pressed
steel tread and riser sininisinininialainlalninlnlalinialaiaininininininininininisialnininininintalntainiaininduininin A e
with hook/flange to
front edge to secure f
and support . o
| =
Welded tag to f < o ~
recieve hook/flange\ N A
from q T ™ i
tread and riser q.% Curving f ] />>< N
bquhead\ | 0% R
TBA q f V4
N ]
\\ //
N / A I
\\ // ‘
\\\ /\/// / e
N 1 4
150 x 75 x 18 WY l 0 E%I g ! l
PFC Stringer N/ /// -
as SE Design Z ) 1 £
Detail H =T | B4 Z
Scale 1:2 y ye 7 ’1,[’65
120 x 48 Glulam Vil
ballustrades Nd l
TN [ M — == -
% M12 CS nut, bolt T ) B & Vel Jo| Jof Jo[ole] o N
Welded tag to / and washer through . y % 1854 S TN HHHHHH
recieve hook/f:c?(r;gqe connecting rail K —19—2—% PPC Black angle 0 i
tread and riser 801 with welded e|_1c! n fi
s plate for bolt fixing Q S
O y into steel stringer o °
l 4815 l [ Z r o
Locally NN AENR LTI T ]
break out -
scread for /
connection /// & i H H H i H H H
150 x 75 x 18 pe
PFC Stringer e Welded tag to
as SE Design Ve AT recieve hook/flange
° from
tread and riser
o e
- ] : o
Detail J Section Through G-G gc'gfevl'%
10mm Scale 1:4 Scale 1:20 Please note:
Grout zone fixings
to structure
M12 resin fixed TBA
anchor through
14mm hole T Sl Sl S S SRSastnRSESESSISISISS
48
Ply sub floor
to mid landing
(HAHHHHHEHEEEEEE A EEEEEEEEEHEE
Indicative of FFL
sub floor, heating
Fu”bittrte\?vgetlz and insulation
o = = = =
=
|
PPC Black angle
with welded end Plan View
- plate for bolt fixing Scale 1:20
® into steel stringer

2

12mm PPC rod
through 12
ballustrades .

M16 bolts
through 18mm
holes

End plate with
full strength Detail K
butt weld Scale 1:2

53-2(/

120 x 48 Glulam
ballustrades

PPC Black angle
with welded end
plate for bolt fixing
into steel stringer

120 x 48 Glulam
ballustrades

Locally remove

blockwork to
let in stringers
10mm

Grout zone Detail L

Scale 1:4
Pellet over

M10 bolt as

detail N.

(Some pellets

left out for clarity)

Kitchen base units
by others
(Indicative only)

Curving
bulkhead
TBA

Isometric View
Scale 1:20

100
——'—'——

HEHHHEHEHHHEEEHEEEHEH]]

10 x 60mm

Black PPC hand rail
with supporting
wall brackets

12mm PPC rod
through
ballustrades

Section Through G-G
Scale 1:20

Detail P
Scale 1:4 P

N

Please note:

fixings
to structure
TBA

Please note:
fixings
to structure

(Some pellets
left out for clarity)

TBA

Isometric view

Structure and timber removed

Scale 1:20

N =

NOTE:
—_— Drawing to be read in conjunction with SE
drawing SK100, SK101 & SK102 Rev P1

1. All bolts non preloaded Grade 8.8 Uno
2. All steelwork S355 JR Uno

3. All Plate S275 JR Uno

4. All Welds 6FW Uno

5. Resin into block Hilti Hit-HY 200-A

or similar approved

Kitchen base units
by others
(Indicative only)

<H

I i
T 1hso I
'; _______ p—
Elevation
Scale 1:20

48

M10 bolt into

tapped hole in stringer
concealed behind
matching pellet

Detail N
Scale 1:1




